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T2z ht—H A109141105 20hH 90.97 1 4000
TER ht+t—HF A109141108 73018 85.12 2 3000
T2z ht—H A109141109 FOA 85.06 3 (EEEEN
TEk ht+_—HF A108141109 MOF5 91.33 1 4000
T2k ht_—H A108141106 S0 90.37 2 3000
TEk ht+t_—H A108141110 BROE 89.6 3 (EEEEN
T &P ht—H A107141115 52 Ofh 95.45 1 4000
TEk ht+t=F A107141118 SO0 91.71 2 3000
T &P ht—H A107141111 il O 91.54 3 2000
Tk hiE—H A109147102 FOF 92.67 1 4000
T 2B hiE—H A109147113 F O3 90.26 2 3000
Tk hiE—H A109147103 =0 89.67 3 (EREEN
T 2B hiE _—H A108147109 =0 89.9 1 4000
Tk hE_ P A108147113 MOR 84.28 2 3000
T2 hiE A108147108 EEOfIR 83.86 3 2000
Tk hiE=H A107147101 Tt O 90.91 1 4000
T2 hiE=H A107147102 EOHE 87.25 2 3000
TER hiE=H A107147107 EBO /ML 87.16 3 2000

BEEBMR HASfg—F A109182103 KRO# 90.64 1 4000
BEE HESEMmE—F A109182101 #0139 90.54 2 3000
BEEMNR HASfg—F A109182107 ROWE 88.79 3 2000
BEE HESEMmE_ A108182109 BROE 93.27 1 4000
BEEMNR HASf g _H A108182150 BROE 90.77 2 3000
BEE HESEME_— A108182122 5RO 89.5 3 2000
BEEMR HASfg=H A107182104 Eo A 89.95 1 4000
BEE HESEME= A107182120 i OZ 89.27 2 3000
BEEMNR HASfg=H A107182112 O 84.63 3 2000
BEE HAZ MmN 1061331124 EXS) 84.42 1 4000
BEEMNR HAH 800 H 1061331111 HOE] 80.25 2 3000
BEE HASE MmN 1061331132 =05 79.96 3 2000
BEEMNR HAH SimE—H A109183120 HOR 88.33 1 4000
BEE HAESHHE P A109183104 =0%F 86.3 2 3000
BEEMNR HAH SimE—8 A109183106 =07 83.57 3 2000
BE2E HAESH _ 3 A108183106 5ROF 90.71 1 4000
BEEBMR HAh S _F A108183120 HEOx 89.5 2 3000
BEE2 HAESHE _P A108183127 R0%& 88.25 3 2000
BEEBMR HAh S =9 A107183121 =08 81.83 1 4000
BEE HAESHE =5 A107183109 BEORT 81.38 2 3000
BEEMNR HAh S =9 A107183122 ABOH 79.33 3 2000
BEE HA SIS 1061332105 =08 85.64 1 4000
BEEMNR H A Simis 0 1061332108 B O 84.64 2 3000
BEE HASiHEINE 1061332128 2105 83.09 3 2000
KB 5 HAS@aeER—H A109179111 RO 90.2 1 4000
K BB 2 e HASRER—8 A109179103 =0 90.07 2 EEEE
KE B HAEZRER—H A109179105 | ZFOSE 88.33 3 (EEEIN
K BB 2 e HASRER_8 A108179105 MO%= 90.09 1 4000
K25 HAS@aeR _H A108179107 ROR 86.3 2 3000
K BB 2 e HASReER_8 A108179111 20F 85.09 3 (EREEN
KE R HAEZRER=H A107179107 | #HO# 87.18 1 4000
K BB 2 e HASRER=H A107179104 FOE 85.75 2 3000
K B2 B HAS@aeER = A107179103 BROZ= 83.68 3 2000
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T2z RRAE =5 B109147112 FO# 82.48 1 4000
TER AR = B109147102 BRO3Z 81.67 2 3000
T2k RAE=H B109147122 | AOMA 81.23 3 (EEEN
TEk RT—=F B109143107 ER O 91.67 1 4000
T2k RT=H B109143102 £ [OAV 90.52 3 EEEE

HhNEE H i s =x B109133310 JTOE 93.27 1 4000
AR H_XER=TX B109133306 2OF 92.68 2 3000
ShNEER H s =% B109133318 FOE 90.91 3 (EEEEN
HNEE R H_XEH=KN B109134306 EOM 91.04 1 4000
HhNEERR H_EH=R B109134317 BOE 90.05 2 3000
AR H_XEH=KN B109134315 EO%E 89.61 3 2000
BEE H B =% B109182137 BROTT 87.58 1 4000
BEEMNR H k=5 B109182101 =01 86.82 2 3000
BE2E H B =% B109182107 FKOIHE 86.57 3 2000
BEEMNR H =5 B109182103 2|03 86.57 3 2000
BEE H ik =5 B109183104 ;LOB 86.83 1 4000
BEEMNR H i Emis = B109183124 =0%& 86.68 2 3000
BEE25 H _iimk =5 B109183107 FOE 85.9 3 2000
BREENSR HOXFEE—F C109187115 =0, 89.1 1 4000
EREERNSR BOKFER—F C109187137 EOX 87.42 2 3000
BEENSR HOXFEE—F C109187162 BROZR 86.53 3 2000
EREERNSR BOKFER_P C108187101 $2O5h 90.62 1 4000
ERuENS2k HURFERE_B C108187161 HOB 89.55 2 3000
EREERNSR BOKFER_F C108187144 RO 89.38 3 2000
BEENSRE HOXFEERE=F C107187130 HOE 89.3 1 4000
B PO EE & —ER C109159129 FOzE 88.91 1 4000
SRS Y Bl = —H C109159146 HOF5 87.68 2 3000
EIEE PO e & —ER C109159130 ROA 87.67 3 2000
SRS Y 1 — B C108159122 BOFR 94.17 1 4000
EIEE Y Bl = — R C108159109 ZEOIE 93.62 2 3000
SRS VY 1 — B C108159143 HOYt 91.74 3 2000
EIEE PO EE & = C107159102 FFOfHE 89.91 1 4000
SIS PYEl = =5 C107159120 =0Z 88.67 2 3000
EIRE PO EE & = C107159117 FO# 88.58 3 2000
BEEESN NeE—H C109161105 HOZ) 92.47 1 4000
BESSELIT NE&E—H C109161129 FFO$E 92.05 2 3000
BEEESNR HeE—H C109161118 BROE 89.71 3 2000
BESSELIT MeE _H C108161118 5ROIR 94.04 1 4000
BEEESNR Mes _H C108161128 BROE 93.41 2 3000
EESSELIE MeE_H C108161103 FO%R 92.88 3 2000
BEEESNR NeE= C107161123 MO E 93 1 4000
EESSELIT &&= C107161118 5ROME 92.68 2 3000
BEEESNR MeE=H C107161101 OB, 92.33 3 2000
BRAEMER EF5—HF C109112105 FHOME 90.09 1 4000
BHEENER EF2—H C109112109 MOE 89.62 2 3000
BRAEMER EF&—HF C109112170 BRORE 87.35 3 2000
BHEENER EF=_H C108112134 BO= 92.83 1 4000
BRAEMER BEF&_H C108112155 MOZ= 90.5 2 3000
BHEENER EF=_H C108112143 20@ 89.53 3 2000
BRAEMER Bfx=F C107112138 FOsE 95.2 1 4000
BHEENER EFH=H C107112168 BROE 93.22 2 3000
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BHEENER BEFfx—=F C107112119 SBOR 92.5 3 2000
BRAEMER BiEL—F C109110125 FFOF 87.18 1 4000
BHEENER EiER—F C109110150 ERO#E 86.67 2 3000
BRAEMENR BiEL—F C109110116 fr O 85.59 3 2000
BHEENER BB C109110221 HORE 93.11 1 4000
BRAEMER BRR2—O C109110207 LO0iR 91.79 2 3000
BHEENER BEiEH_FP C108110128 MO 95.19 1 4000
BRAEMER BiELR_F C108110125 BOR 95.05 2 3000
BHEENER BEiEH_FP C108110109 MOR 94.38 3 2000
BRAEMER BRRE_O C108110250 BROF 96.9 1 4000
BHEENER BiEx_0 C108110227 OB 96.29 2 3000
BRAEMER BRRE_O C108110207 MO 90.16 3 2000
BHEENER BB =P C107110118 FO&E 95.08 1 4000
BRAEMER BiEL=F C107110133 RO 94.12 2 3000
BHEENER BB C107110106 FBO% 92.76 3 2000
BRAEMENR BRREA=C C107110245 FOH 97.5 1 4000
BHEENER CREE ) C107110236 SROUE 96.28 2 3000
BRAEMER BRRA=C C107110231 FOI]E 94.22 3 2000
BHEENER MET —H C109151138 BO:iE 93.75 1 4000
BRAEMENR NET—H C109151171 EOET 91.63 2 3000
BHEENER MET —H C109151163 TORE 91.5 3 2000
BRAEMER ET _H C108151119 MO 90.91 1 4000
BHEENER MET _H C108151148 5 OF 90.77 2 3000
BRAEMER WET _H C108151107 PO#E 90.68 3 2000
BHEENER MET =H C107151103 & Oh 93.83 1 4000
BRAEMER MET =5 C107151147 FBOM 93.47 2 3000
BHEENER MWET=H C107151105 505 93 3 2000
T2k P{E4F—ER C109146129 MOF 90.43 1 4000
T2k T+ —8 C109146113 = Ot 88.26 2 3000
TEk P{E4F—HR C109146115 FOLE 84.67 3 2000
T2k M —2, C109146204 B0 92.7 1 4000
TEk TEM—2 C109146217 MO 85.74 2 3000
T2k e —2, C108146242 FEOS 84.05 3 2000
TEk LA o S C108146141 ZEORE 89 1 4000
T2k M1+ — B C108146103 EOR¥ 82.96 2 3000
Tk AR o C108146119 mOF 82.6 3 2000
T2k MmiEm — 2, C108146220 RO 95.75 1 4000
Tk T e+ — 2, C108146237 =0RE 90.92 2 3000
T2k MmiE# — 2, C108146258 #FOTT 86.59 3 2000
Tk P0{EAF =F C107146136 BRO5 91.29 1 4000
T2 P44 =58 C107146137 O 87.52 2 3000
Tk P{E4F =H C107146130 RO 87.12 3 2000
T &R e =2, C107146238 BOZE 93.06 1 4000
TERR TEs =2, C107146225 2O 92.21 2 3000
T2z =2 C107146202 HOR 90.4 3 2000
TEk H+—F C109141114 H Ol 90.32 1 4000
T &P H+—8 C109141160 FF O 89.48 2 3000
TEk H+—F C109141155 BOZ% 87.4 3 2000
T 2B N+—2 C109141209 ZFOi% 90.56 2 3000
TEk N+—7 C109141267 ZEOE 88.72 3 2000
T2k M+ —H C108141103 TOR 93.41 1 4000
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T2k i+ —H C108141124 MOZE 89.56 2 3000
TER T+ —F C108141104 BOE 89.04 3 2000
T2k m+—z C108141232 08 88.35 1 4000
TEk m+—7 C108141229 ROR 87.24 2 3000
T2k m+—z C108141213 BO=E 87 3 2000
TEk M+ ="F C107141127 RO 94.1 1 4000
T &P M+ ="F C107141138 2OE 91.73 2 3000
TEk H+="F C107141160 ZOF 90.64 3 2000
T2 Nt=2 C107141214 BRO## 91.71 1 4000
TEk Nt=2 C107141243 EOZR 91.5 2 3000
T &P Nt=2 C107141242 FOH 90.33 3 2000
Tk POt —HR C109142111 FFOR 89.43 1 4000
T 2B P& —E C109142112 Z0H& 89 3 2000
Tk Mig—2 C109142201 RO= 85.54 1 4000
TP ig—2 C109142240 HOE 84.81 3 2000
Tk Pt —i C109142331 BOIR 83.87 1 4000
T &R i —mA C109142302 ZIOR 83.56 2 3000
TERR Tt —iN C109142317 HO%E 81.26 3 2000
T2z T 58 C108142140 15OlR 91.75 1 4000
TEk T — 58 C108142154 HOZ 91.5 2 3000
T &P Pk _— 58 C108142155 B O 86.82 3 2000
TEk Mg —2 C108142226 FO¥F 93.89 1 4000
T &P M _c C108142282 BOIE 89.83 2 3000
TEk Mg —2 C108142216 JROE 86.96 3 2000
T2 M C108142302 EOL 92.44 1 4000
Tk Pt — A C108142351 BROZE 90.25 2 3000
T &P M C108142301 MOE 87.64 3 2000
Tk POt =59 C107142108 BOLF 92.25 1 4000
T &P P& =58 C107142102 BROZE 89.21 2 3000
Tk POt =59 C107142123 (O 89.19 3 2000
T 2B =2 C107142231 HOZ 91.71 1 4000
Tk M= C107142238 HHO%= 88.15 2 3000
TR ig=2 C107142230 MO 88.09 3 2000
Tk POt =" C107142325 ZOx 92.28 1 4000
T2z =" C107142344 BROZ) 92.25 2 3000
TEk &= C107142343 HOH 91.67 3 2000
BHEENER V& —H C109154144 O 89.18 1 4000
BRAEMER FiE—8 C109154124 =05 88.08 2 3000
BHEENER V& —H C109154145 % OF) 87.17 3 2000
BRAEMER HMH&E—7, C109154235 MOE 92.67 1 4000
BHEENER H&E—7 C109154265 RO% 87 2 3000
BRAEMER HMH&E—7, C109154252 BRO9 87 2 3000
BHEENER HE—R C109154319 RO 89.5 1 4000
BRAEMER NE—A C109154308 EOZF 86.96 2 3000
BHEENER HE—R C109154322 2058 84.64 3 2000
BRAEMER V&g _H C108154133 RO 90.54 1 4000
BHEENER V&g _ C108154148 BORE 88.71 2 3000
BRAEMER V& _H C108154181 $8019 88.27 3 2000
BHEENER HNE_ C108154223 EROfii 89.74 1 4000
BRAEMER HW&E_2, C108154226 BROF 89 2 3000
BHEENER HNE_ C108154237 50%E 87.09 3 2000
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BHEENER ME_R" C108154324 =0%& 90.24 1 4000
BRAEMER ME_R C108154338 BROTT 89 2 3000
BHEENER ME_R C108154306 $2O18 88.74 3 2000
BRAEMENR V& —H C107154121 EO% 96.67 1 4000
BHEENER V&= C107154148 S0 95.92 2 3000
BRAEMER V& —H C107154139 2O 95.58 3 2000
BHEENER HNE=2 C107154242 M O= 95.24 1 4000
BRAEMER &=, C107154250 FO4 91.8 2 3000
BHEENER HNE=2 C107154233 BBOH; 91.42 3 2000
BRAEMER HE=RN C107154339 (O] 95.14 1 4000
BHEENER ME—=-R C107154328 =03k 93.53 2 3000
BRAEMER F—8 C109152103 RO 87.67 1 4000
BHEENER +—FH C109152125 50 86.74 2 3000
BRAEMER F—8 C109152145 BROZ 86.56 3 2000
BHEENER L A C109152221 5ROIE 83.95 1 4000
BRAEMENR N+—2 C109152242 MO8 82.88 2 3000
BHEENER H+—R C109152310 =01% 86.67 1 4000
BRAEMER L C109152321 2O58 83.33 2 3000
BHEENER H+—R C109152343 2|OF 83.04 3 2000
BRAEMENR M+ _H C108152124 MOZR 92.46 1 4000
BHEENER M+_H C108152123 FOE 90.67 2 3000
BRAEMER M+ _H C108152146 FFORE 89.43 3 2000
BHEENER N+_c C108152203 FROE 89.71 1 4000
BRAEMER N+_7 C108152248 07 89.52 2 3000
BHEENER N+_c C108152239 73 OFf 88.62 3 2000
BRAEMER mH+_R C108152340 o8 94.06 1 4000
BHEENER N+_R C108152352 ZFOR 93.83 2 3000
BRAEMER H+_R C108152320 £01E 92.56 3 2000
BHEENER L 1061244148 &0 91.54 1 4000
BRAEMER 7+ —FH C107152113 KO 91 2 3000
BHEENER L C107152103 MOfE 90.08 3 2000
BRAEMENR N+=2 C107152233 O 93.35 1 4000
BHEENER [ C107152252 HO% 93.21 2 3000
BRAEMER N+=2 C107152214 E2ORE 92.94 3 2000
BHEENER | C107152315 H OB 92.91 1 4000
BRAEMER H+=n C107152301 BOF 90.77 2 3000
BHEENER | C107152302 ROE 90.76 3 2000
T2k JutE—H C109147101 ROl 84.28 1 4000
T2k Py+E—Ea C109147134 ROS 82.32 2 3000
TEk JutE—He C109147108 F05 80.77 3 2000
T2k H&E—2 C109147203 FEOE 90.58 1 4000
TEk HiE—2 C109147202 FOE 89.58 2 3000
T2k H&E—2 C109147238 SO0 88.81 3 2000
TEkK s —N C109147354 2019 92.41 1 4000
T2k e —A C109147305 MOHH 91.3 2 3000
Tk PiE— C109147303 KO 90.68 3 2000
T2k P48 B C108147116 #HORE 85.63 1 4000
Tk P& — R C108147136 ZFOk 84.92 2 3000
T2k PR B C108147101 20X 84.86 3 2000
Tk &7 C108147244 ZF0O18 88.13 1 4000
T2k ME_7 C108147234 A0 87.32 2 3000
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T2k ME_7 C108147227 MO 84.5 3 2000
TER & A C108147343 73 OF)) 88.41 2 3000
T2 MR " C108147310 EOIE 87.68 3 2000
TEk PUiE =8 C107147153 RO 87.17 1 4000
T &P P8 =58 C107147117 BRO 85.94 2 3000
TEk PUtE = C107147158 ROF 85.64 3 2000
T &P H&E=2 C107147216 MOZE 89.18 1 4000
Tk H&E=2 C107147213 5RO 87.47 3 2000
T 2P e =R C107147335 I O& 90.06 1 4000
Tk iE = C107147319 MO 87.28 2 3000
T &P e =R C107147317 2101Z 87.15 3 2000
Tk T —H C109143125 FFOA 85.42 2 3000
T2k T —H C109143127 =O0Ug 85.33 3 2000
Tk T _—F C108143143 =08 92 1 4000
T2k M1 B C108143137 RO 90.29 2 3000
Tk T _—F C108143101 508 89.16 3 2000
T2k A C107143126 O 93.09 1 4000
Tk T =F C107143141 HOlF 92.76 2 3000
T2k M1 —H C107143116 FBO% 92.41 3 2000
TEk EEZ—H C109106131 FOE 87.71 1 4000
T2k 2R —H C109106137 MO 86.37 2 3000
Tk EEZ—H C109106109 MOFF 85.96 3 2000
T2k =224 C109106241 FO= 85.04 1 4000
TEk =224 C109106203 B O 81.95 2 3000
T2k =224 C109106238 1018 81.4 3 2000
Tk EEA_H C108106105 MHOE 89.09 1 4000
T2k =E%_H C108106136 RO&E 84.73 2 3000
Tk EEZ_H C108106119 BOE 84.67 3 2000
T2k =EER_4 C108106202 TOE 89.93 1 4000
Tk =ER2_4 C108106203 MOz 88.67 2 3000
T2k EEZ_ O C108106205 O 87.04 3 2000
TEk ERR=F C107106117 =017 88.38 1 4000
TR EER=H C107106131 2|Offi 88.23 2 3000
Tk ERR=F C107106157 =02 87.41 3 2000
T2z ERR2=C C107106242 LOB 89 1 4000
TERR =2RAR=4 C107106238 ZF Ot 87.92 2 3000
T2z ERR=C C107106216 =017 87.6 3 2000
TEk EZH—H C109107107 ZOE 86.36 2 3000
T2k e C109107130 BEO% 86.33 3 2000
TEk BZR—0 C109107202 FOE 91.68 1 4000
T2k BZR2—0 C109107201 52O 88.05 2 3000
TEk BZHR—0 C109107205 £20IE 81.69 3 2000
T2k BZH_H C108107129 SBOH 91.04 1 4000
TEk BZH_H C108107135 EA[OF 90.67 2 3000
T2k BLZHR_H C108107108 HOH 89.44 3 2000
Tk BLZHR_0 C108107235 BOE 91.25 1 4000
T2k BZR_O C108107219 20E 91.08 2 3000
Tk BLZHR_0 C108107208 FOR 90.37 3 2000
T2k BZHR=H C107107105 FOEE 89.96 1 4000
Tk EZH=H C107107106 BOE 89.91 2 3000
T2k BZHR=H C107107103 RO 87.93 3 2000
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T2k BRZR=C C107107231 BOx 88.41 1 4000
TER BZ2=0 C107107235 BR O 86.47 2 3000
T2k BZRA=0 C107107215 EROES 86.46 3 2000
TEk TE—H C109101119 S LOSE 87.05 1 4000
T2k IT&8H—H C109101126 RO 85.55 2 3000
TEk ITE—H C109101103 gOZ 84.4 3 2000
T2k IT8%_H C107101151 ROF 86.6 1 4000
TEk TE_H C108101123 5 O&F 86.29 2 3000
T2k ITEA=H C107101130 HOF 88.62 1 4000
TEk TER=H C107101111 BROZE 85.83 3 2000
T &P WERIFHAEA P C109105126 FFO1E 90.19 1 4000
Tk B LB A—P C109105152 BROTE 89.65 2 3000
T &P WERIFHA P C109105131 FOE 87.17 3 2000
Tk B LB AE _ P C108105159 FHORY 91.14 1 4000
T 2B WERIFHA_FP C108105101 FOE 87.17 2 3000
Tk B LB AE_P C108105145 BROE 86 3 2000
TP WERIFHAEA = C107105120 EHONR 86 1 4000
TER HELBHA=F C107105107 B O, 85.78 2 3000
T2z WERIFHAE = C107105125 KO 85.28 3 2000
TEk WEZRBEHE—L C109104202 SOl 92.96 1 4000
T &P WERBEFHE—L C109104201 BOH& 90.56 2 3000
TEk WEZBEHE—L C108104202 E[OF/n 88.41 3 2000
T &P WERBEFHE_L C108110256 #FOIZ 89.46 1 4000
TEk WERBEH_L C108104214 mO% 89.18 2 3000
T 2Pk WERBEFH_L C108104213 BROlz 88.24 3 2000
Tk WERBEH=CF C107104205 FFOIR 90.83 1 4000
T &P WERBFH=C C107104203 FOi5 88.65 2 3000
Tk WERBEH=-C C107104259 ZIOH 86.36 3 2000

AN BB I A—E C109164155 HOLF 89.24 1 4000
AN BB TOA—H C109164162 FFOH 88.26 2 3000
AN BB HA—E C109164151 EOH 86.13 3 2000
AN BB TA—FR 1106162134 ERO& 90.47 1 4000
AN BB A _H C108164111 EEOY 90.18 2 3000
AN BB TIA—FR C108164131 FO# 89.79 3 2000
AN B2 THA=5 C107164111 FOH 93.18 1 4000
AN E B THA=F C107164108 (@) 92.18 2 3000
AN B R WA= C107164120 EOZ%E 91.4 3 2000
AN E B PO Bl —H C109165128 ZOfR 89.24 1 4000
AN B2 TIxzZEl—H C109165106 0% 88.59 3 2000
AN E B TUsZEl— R C108191102 EO%R 90.56 1 4000
AN B R TUszZEl — C108165132 BRO% 89.91 2 3000
AN BB TUsZEl— R C108165138 BOX 88.46 3 2000
AN B R TUsEl =5 C107165126 BRO= 92.85 1 4000
AN BB PO Bl =F C107165142 ,LOf% 92.77 2 3000
AN B R TUsEl =5 C107165130 HFOE 92.69 3 2000

HhNEERR fE5: 5 —H C109133112 FOE 92 1 4000

AR R Z—F C109133117 52015 90.58 2 3000

ShEERR B i—FR C109133114 RO 89.91 3 2000

AR [BEZ—7 C109133215 201 91.86 1 4000

ShNEERR ERR— C109133225 2102 89.57 2 3000

HNEE R [BEZ—7 C109133204 H Ok 89.55 3 2000
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AR BRZ— C109133346 FOota 94 1 4000
ShEERB EBHRZ—A C109133329 RO 93.8 2 3000
HNEE R BHRZA—R C109133345 HO& 92.7 3 2000
HhNEE (e C108133103 HO& 91.82 1 4000
HhNEE R BTz C108133124 BO# 91 2 3000
ShNEE (e C108133126 ZO3 90.25 3 2000
HNEE R (S C108133241 MO 93.3 1 4000
ShNEE (S C108133223 O/ 92.57 2 3000
HNEE R (S C108133228 BROZ 92.35 3 2000
ShNEE BRZ_A C108133342 EOE 90.45 1 4000
AR (= | C108133312 5ROIE 90.22 2 3000
ShNEER BRZ_A C108133330 BROZ= 90.05 3 2000
HNEE R BT C108133440 EOM 92.68 1 4000
ShEER ERZ_ T C108133426 FEOE 91.5 2 3000
HNEE R BRZ_ T C108133412 ROP) 90.45 3 2000
ShEERR 5 % BT 0 — FP C107133133 FOH 92.71 1 4000
HNEE R B BRE = C107157102 SO# 92.57 2 3000
ShEERB R ERE=F C107133107 E2OF 91.88 3 2000
HNEE R BRABRE=C C107133233 5ROIE 92 1 4000
ShEE ERRERE=C C107133202 2O 91.69 2 3000
HNEE R BRABRE=CL C107133220 RO 91.39 3 2000
ShNEER LA EBIME=F C107166146 FOE 92.71 1 4000
AR ERABIME=F C107166147 2|07 92 2 3000
ShNEER RS L BIME =5 C107166138 =0/ 91.61 3 2000
HNEE R BRABINE=C C107166227 MO 93.5 1 4000
ShNE R fERZBINE=C, C107166231 BROM 92.3 2 3000
HNEE R BRABINE=C C107166223 BROZE 92 3 2000
ShNEERR fEHZ—H C109134148 RO 90.45 1 4000
HNEE R EHZ—H C109134116 HOA 90.36 2 3000
HhNEER fEHZ—H C109134127 HOAB 89 3 2000
HNEE R BHZ—C C109134203 JTOoZ 92.89 1 4000
ShEERR BHZ—Z C109134243 #HOM 91.08 2 3000
AR BHZ—C C109134215 RO 90.64 3 2000
ShNEER fEHZ _H C108134126 MOE 92.91 1 4000
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